
OMT-101 No. of Printed Pages : 20 

Bachelor's Preparatory Programme (B.P.P.) 

(For Non 10+2) 

04375 	Term-End Examination 

December, 2019 

OMT-101 : Preparatory Course in 
General Mathematics (Revised) 

Time : 2 hours 	 Maximum Marks : 50 

i-.1 ci ch 	ch ch sb 	.tfis .T11. ) 

(i'lm 10+2) 

	ilt4TT 

to-sit, 2019 

: 	 1 1 in 	 1 mitINcr, gicktismi 	*Al) 

Osiet : 2 WI2 	 3TrErdTt 3W : 50 

OMT-1 01 	 1 



General Instructions : 

Preparatory Course in General Mathematics (Revised) (OMT -101) 	Questions 1 - 50 

(i) This is an objective type question paper. Options for the correct answer must be marked 

only in OMR sheet. 

(ii) All questions are compulsory. 

(iii) The question paper consists of 50 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative I answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct then write 0 and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 

(vi) Use of calculators is not allowed. 

OMT-1 01 	 2 



filffirei 

  

	

ch trrTzwzr (Ti*N4) (31.1T.t.-101) 	31r-4 1 - 50 

27F Ti Tigftif 3177-9a * / 3TY i fte 	 ei OMR ea # IMf17 I 

(ii) Fr* 	alf4-47-4, 

377-77 # 50 WV' g f;1.01 NR:2-W 3T 3.  TW 	g/ 

(iv) RR* 3RV FIT21 Wrf 	 44 	* 4 kw Fre 	31 317 	# 	 

fie 	wi- shHich fiqa w7-  fi<gell ./N 	30?-  Rh( dill 	 3772ff 

EiT dfft chfclAi # Afa ciffikt l 3771?" 3771:1 rfl *  fk 	 sit OWFT 	7e X1 0  

ark- 	0 7:7 Af$ cm/Sr 

(v) 3777—EN e 174 # fiHel gel rm.  ef-47 	q77 	e ciw? 	I 

foie/ 	 3R77 347ZT 	Eichal * / 

(vi) cv17(,?& . .31e/ eM 	31-yAft f / 

OMT-101 	 3 



1. The degree of the polynomial 7x 3  + y6  is 

(1) 3 
	

(2) 6 

(3) 7 
	

(4) 9 

2. A rectangle has an area 30 cm 2  and perimeter 26 cm. Then, its sides (in cm) are 

(1) 5, 6 

(3) 5, 8 

3. The place value of the digit 5 in 45632 is 

(1) 5,000 

(3) 500  

(2) 3, 10 

(4) 2, 15 

(2) 50,000 

(4) 5 

4. Which of the following numbers written in the decimal system represents number 101 

written in the binary system ? 

(1) 2 	 (2) 3 

(3) 5 	 (4) 6 

5. Which of the following statements is true ? 

(1) All real numbers are rational numbers. 

(2) All rational numbers are real numbers. 

(3) All integers are whole numbers. 

(4) All rational numbers are natural numbers. 

6. — 3 — (— 3) = 

(1) — 6 
	

(2) 0 

(3) 6 
	

(4) 3 

7. Deepti divides three-fourths of her property equally among her three children. Then, 

of the total property, each child gets 

(1) one-third 

(2) two-third 

(3) one-fourth 

(4) half 
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1. A-Tzg 7x3  + y6  Ar 17ff 

(1) 3 
	

(2) 6 

(3) 7 
	

(4) 9 

2. *Ift 3TRFff 	"ith-"a 30 cm2  W4T tfft1417 26 cm t Icam, dt.1 	TAT1 (cm 4) t 

(1) 5, 6 

(3) 5, 8 

3. a* 5 45632 ATP-TrtzT 1:17 t 

(1) 5,000 

(3) 500  

(2) 3, 10 

(4) 2, 15 

(2) 50,000 

(4) 5 

4. -ftaTitTrtfi tr4N1 Ritsfi tii911 101 qkliicicl Tr-41W 4 ICI(1 TR P4-ifZ1 	No 	Aq.--41 kitgel I 

d cbktil t ? 

(1) 2 	 (2) 3 

(3) 5 	 (4) 6 

5. 	-1 4-1 tin -11-4 41-17 WaR 1:(1 t ? 

(1) Trift aR-riract) titgailtrfkilzf tit 	ii t I 

(2) vft TN-4 tikt?-41 lk-c1PcIct) tK91I 	t I 

(3) Vft k Tui ti 	9 I # 

(4) Trift trftAzr 	wtkui (5rrta) (-1(Sllt 

6. - 3 - (- 3) = 

(1) - 6 
	

(2) 0 

(3) 6 
	

(4) 3 

7. 4M 3T:ft 417-*?4 	aTEA tq. -4Q 1  GRIGit-GRIaR rwiTe4ff 	t 

kiLi 	mi 	 11 

(1) 

(2) t- 

(3) -A).21Tt 

(4) am 
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8. Which of the following fractions is not equivalent to -
3 

? 
7 

(1) —
27 

(2) —
21 

63 	 49 

(3) —
15 33 

(4) — 
35 	 70 

9. A person completes -
2 

of a task in a day. If he works for 3 days, what fraction of the 
9 

task remains to be completed ? 

(1) 	
1 	

(2) 	
2 

3 	 3 

(4)  (3) 
1 	 1 
9 	 6 

10. 3.509 + 	+ 3.223 + 0.12 = 

(1) 8.749 

(3) 8.3612 

11. 0.001 x 0.01 = 

(1) 10-2  

(3) 10- 4  

(2) 9.352 

(4) 8.759 

(2) 10-3 

 (4) 10-5  

12. The compound interest on 	10,000 for 2 years at the rate of 8% per annum, 

compounded annually, is 

(1) 	1,664 
	

(2) 	1,646 

(3) 	16,000 
	

(4) 	1,466 

13. If 3% of 3% of a number is 9, then the number is 

(1) 81 

(3) 1,000 

2.8  
14. 	 is equal to 

0.28 

(1) 10 

(3) 0.1 

(2) 10,000 

(4) 900 

(2) 1 

(4) 0.01 
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8. 	ego 4 A cb 

(1) 	27 
63 

(3) 	
15 
35 

otim 	-Rq 4 	ch 

wiTAT 	ITFT t4 

10. 3.509 + 2.5 + 3.223 + 0.12 

(1) 8.749 

(3) 8.3612 

11. 0.001 x 0.01= 

(1) 10-2  

(3) 10— 4  

t ? 

(2) 

(4) 

21 
49 

33 
70 

—3  * 
7 

ger 

'gm (‘)01 -r-<q eiR querq 	4.4 

*Ef AR411 ? 

(2) 2 

(4) 
1 
6 

= 

(2) 9.352 

(4) 8.759 

(2) 10-3  

(4) 10-5  

12. 	10,000 TR 2 *T 8% ai cr, 	A w* 	 al cb tig 	t, 

PHR-IRsid 4 A : 

(1) 	1,664 

(3) 	16,000 

(2) 

(4) 

1,646 

1,466 

eiR itEft 3%*T 3%, 9t, t 	tit90-11 t 

(1) 	81 (2) 10,000 

(3) 	1,000 (4) 900 

2 8 
cRicit t 

0.28 

(1) 	10 (2) 1 

(3) 	0.1 (4) 0.01 

13.  

14.  
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15.  If aloo x  5100 = 10100, then the possible values of a are 

(1) 	2 only 

(3) 	2 and - 

3(33)  is equal 

(1) 	273  

(3) 	39  

2 	3  —
a 	

x 
(ab) 

2 

to 

is equal to 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

- 2 only 

5 

327  

93  

a5  13-3 

 013-2  

b5 	a-3  

(1) 	ao b4 

(3) 	as b2 

18. Which of the following is not a solution of the equation x - 2y + 1 = 0 ? 

(1) 10, -1  ) 
2 ) 	 (2) 

(21 431 

(3) 	(1, 1) 	 (4) 

19. Which of the following expressions is not a polynomial ? 

(1) 

(3) 

x2y3  + 2x + y4  + 9 

1 
 - 

x 

(2) 

(4) 

5 

0.001 

20. Which one of the following is not a factor of 2x3  - 9x2  + x + 12 ? 

(1) x - 4 	 (2) 2x - 3 

(3) x + 1 	 (4) x - 2 

21. Which of the following sequences is in arithmetic progression ? 

(1) 2, 4, 5, 7, ... 

(2) 3, 6, 9, 12, ... 

(3) 2, 4, 8, 16, ... 

(4) i_ 1 1 
2 3 	4 

16. 

17. 

(23  21  ) 
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15. 	 x  510o= 10100*
, t a **a- t 

( 1) 4aci 2 	 (2) 	- 2 

(3) 2 311T- 2 	 (4) 5 

16. 3(33)  WTRi 

(1) 273  

(3) 39 

a 2 	(ab)3  	 
17. x 	 %Kw t b5 	a-3 

(1) a° b4 

 (3) a8  b2  

(2) 327  

(4) 93  

(2) a5 b-3 

(4) a8  b-2  

18. PH zi tIti 4 A 04-1:IT ki&fichtui x - 2y + 1= 0 .W1 "R"" TO.  Ter ? 

( 1) (o,2) 
(3) (1, 1) 

19. PHroRgo 4 A 04-141-  eaNich 	 ? 

(1) x2y3  + 2x+0+ 9 

(3) 	
1 
-x 

20. P+-'irrt 	CI 4 A Aq-liT 2x3  - 9-x2  + x + 12 "W. 	1uH(15 7e7 ? 

(1) x - 4 
	 (2) 2x - 3 

(3) x + 1 
	 (4) x - 2 

21.  

(1) 

(2) 

(3) 

(4) 
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(2) 5 

(4) 0.001 

4 

5, 

9, 

8, 

tgo 

2, 4, 

3, 6, 

2, 4, 

1 1, 

AST arfocr *vim& 5 -41 4 	? 

7, ... 

12, 

16, ... 

1 	1 
4 



22. The sum of the series 

3 +(3 x 4)+(3 x42)+...+(3 x 4 1°)is 
(1) 49-1 

(3) 411— 

23.E k3 

k = 1 

(1) n (n + 1) 

2 

(3) 
	n (n + i)12  

2 

24. If 6! — n . 5! = 5!, then n = 

(1) 8 

(3) 7 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

410  — 1 

49  + 1 

n (n + 1) (2n + 1) 

6 

[n (n + 1) (2n + 1) 2  

6 

6 

5 

25. How many words, no matter if they are meaningless, can be formed by the letters of 

the word 'DIARY' ? 

(1) 5 (2) 10 

(3) 24 (4) 120 

The constant term in the expansion of 1 
x + — 

x 

10 
is 

(1) C (10, 3) (2) C (10, 5) 

(3) 	C (10, 4) 

The angle 100' is equal to 

(4) C (10, 2) 

(1) 1° (2) 2° 

(3) 1—
° 

3 
(4) 

3 ° 
1 — 

4 

A tetrahedron is 

(1) 2-dimensional (2) 3-dimensional 

(3) 4-dimensional (4) 1-dimensional 

10 

26.  

27.  

28.  
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(1) 5 

(3) 24 

10 
(x + 5IfiR > 

(1) C (10, 3) 

(3) C (10, 4) 

26. 

(2) 10 

(4) 120 

31W 

(2) C (10, 5) 

(4) C (10, 2) 

22. 5)mil 3 + (3 x 4) + (3 x 42) + + (3 x 41°) W.  611:FF 

(1) 	— 1 
	

(2) 41°  — 1 

(3) 411- 1 
	

(4) 4° + 1 

23.E k3 = 

k =1 

n (n + 1) 
2 

n (n +1) -1 2  

L 	2 	j 

(2) 

(4) 

n (n + 1) (2n + 1)  
6 

[n (n + 1)(2n + 1)  2  

6 

24. a q 6! — n . 5! = 5! t, c n = 

(1) 8 
	

(2) 6 

(3) 7 
	

(4) 5 

25. T `DIARY'* alAid %A   fich t 	dicbl ch 	 3 t /IT Rt) 

27. ch ui 100' luck t 

(1) 	1° 

F (3) 1 3 
 

28. miglAncich di t 

(1) 2-1dHi3ll awn 

(3) 4-rasilall am! 

(2) 2° 
3  

(4) 14° 
0 

(2) 3-rgiliall curl! 

(4) 1- aiii am! 
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29. Which one of the following statements is false ? 

(1) Every square is a rectangle. 

(2) Every rhombus is a parallelogram. 

(3) Every square is a rhombus. 

(4) Every trapezium is a parallelogram. 

30. Which one of the following is not a conic section ? 

(1) Ellipse 	 (2) Parabola 

(3) Hyperbola 	 (4) Cone 

31. In the figure given below, if the lines 1 and m are parallel, then the relation between 
the angles x and y is 

(1) x + y = 180° 
	

(2) x + y = 90 °  

(3) x = y 	 (4) x + y < 180°  

32. Which of the following letters has more than one rotational symmetry ? 

(2) X 

(4) N 

33. The number of faces in an icosahedron is 

	

(1) 12 
	

(2) 8 

	

(3) 20 
	

(4) 30 

34. How much time will a car take to cover a distance of 5,00,000 metres, if it is moving 
at a speed of 80 km/hour ? 

(1) 6 hours 15 minutes 

(2) 5 hours 45 minutes 

(3) 6 hours 

(4) 6 hours 30 minutes 
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29. PHrortgo 4 A-4-1Tr 	3177R:f ? 

(1) 5ic-ct) 	aTP:fff 	)01 .t I 

(2) 5irtt) 1:1W1117 	wild( 	aldi t 

(3) ut- ct) -44 	Trgrag 	I 

(4) 5Act) t H 1 I K" 	-1417 	di t I 

30. -144-1RiRgo 4 Aq-Tri 7-* kiT-Yark-Q-q Ter ? 

(1) tEtr 
	

(2) TTWdzi 

(3) 3ft1K-4-ezi 
	

(4) 

31. 	t 	al-TR 4, zft 	(511 . Z 3 m wilitt, 	x 3 3r Tktr 

(1) x + y = 180 ° 
	

(2) x+y= 90 °  

(3) x=y 
	

(4) x + y < 180 °  

32. 'PHI-Cifisid 4 A-  RAI aRTK 4 	aftT-* VT-1 	 ? 

(1) H 

(3) Z 

33. 7-* idki ,bc.i.t) 4 xb---4 ttpi t904 I 	CI) 

(1) 12 

(3) 20 

(2) X 

(4) N 

(2) 8 

(4) 30 

34. q; 	 WK 5,00,000 1-ndt *t 	WA' W(4" 4 	(HI ktgrzr 	wg 80 Rt)41/14 *1. -curt A 

Tett? 

(1) 6 	15 	 

(2) 5 T 45 	ie. 

(3) 6 

(4) 6 lEk 
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35. If the area of an equilateral triangle is 4 Nrd cm 2, then its side (in cm) is 

(2) VI& 

(4) 4 

36. A metallic spherical shell is 3 mm thick. If its outer radius is r cm, then the volume 

(in cm3) of the metal used in it is 

(1)
4 
- [r

3 
 — (r + 0 . 3)3] 

3 

(2)
4 

 —7t [r3  + (r — 0.3)3] 
3 

(3) —
4 

x[r3  - (r — 0.3)3] 
3 

(4)
4 
— TC [r

3 
 + (r + 0 . 3)3] 

3 

37. The surface area (in square units) of a cuboid formed by joining 5 unit cubes end to 

end is 

(1) 20 	 (2) 22 

(3) 10 	 (4) 25 

38. If the distance between the points (2, 3) and (0, y) is V29 , then the possible values of 

y are 

(1) 10 and 19 
	

(2) 2 and 3 

(3) 2 and 8 
	

(4) — 2 and 8 

39. Which pair of the following points determine the line 5x + y = 9 uniquely ? 

(1) (2, —1) and (1, 4) 

(2) (1, 4) and (2, 1) 

(3) (3, 2) and (2, 8) 

(4) (2, 9) and (1, 5) 
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35. # f*141TP:KTE ?gip. fit #-Ithd 41/d cm2  t, c dticP TAT (cm 4) 

(1) Vd 	 (2) Vig 

(3) 21/d 	 (4) 4 

36. UTgTIVW ch1 	i *I" 	3 mm t I zft 3ticn 6110 1 \reii r cm t, 	TE1ml 	i 4 

1371) tiTg 	31R1c . (cm3  4) t 

(1) —
4 

It 	(r + 0.3)3] 
3 

(2) —
4 

71 [r3  + (r — 0.3)3] 
3 

(3)
4 
— [r

3 
 — (r — 0.3)3] 

3 

(4)
4 
— [r

3 
 + (r + 0.3)3] 

3 

37. 5 114 'ER1 	i* .4 (tits 	 •71 	3FRIIERIIT T 	r 	(44 t*-4 4) t 

(1) 20 
	

(2) 22 

(3) 10 
	

(4) 25 

38. 7:fR "RSA (2, 3) aIN (0, y) *41-A- *tli 	y  Avg 	t 

(1) io a& 19 	 (2) 2 *3 

(3) 238 	 (4) —2*8 
• 

39. PHrofisio 4 f4sall T 41-T
.
1741111 5x + y= 9 alittzr vcr i4viita-  cnott ? 

(1) (2, —1) * (1, 4) 

(2) (1, 4) 31N (2, 1) 

(3) (3, 2)* (2, 8) 

(4) (2, 9) alIT (1, 5) 
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40. A showroom offers successive discounts of 50% and 30% on an item. The total 

discount offered is 

(1) 80% 	 (2) 70% 

(3) 65% 	 (4) 75% 

41. A shopkeeper offers a 10% discount on an item with marked price 400. If he 

charges 10% sales tax, then the final price of the item is 

(1) 	400 	 (2) 	396 

(3) 	380 	 (4) 	390 

42. The weights (in kg) of newborn babies in a hospital are given below : 

2.8, 2.9, 2.1, 31, 3-5, 3.6, 3.9, 4-0, 51, 3.0 

The number of babies below mean weight is 

(1) 6 	 (2) 4 

(3) 3 	 (4) 5 

43. The median of the data 1, 2, 3, 1, 4, 6, 6, 1, 9, 8, 6, 1 is 

(1) 3 
	

(2) 3.5 

(3) 4 
	

(4) 5 

44. The mode of the data given in Question 43 above is 

(1) 1 	 (2) 6 

(3) 8 	 (4) 9 

45. The following pie chart represents the proportions of people from different parts of 

India living in a certain town of Uttar Pradesh. If the total population of this town is 

9000, the number of people from Madhya Pradesh in the town is 

Madhya 
Pradesh 

(1) 500 (2) 1000 

(3) 600 (4) 900 
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40. R.* -R1*:F cht-ii -411 	50% 3* 30%* -11:1*.  4 r<T4 chtc-ii t 114 	1 1 7T:1T TM TgT 

(1) 80% 
	

(2) 70% 

(3) 65% 
	

(4) 75% 

41. tt) scblick .4,41 4-(1 	10% A--gr 	#,7-4k 31 ,:t11 3-1NUi 	1 400 t I zrR 	10% _ 

call, c aft .41:g wr 	# 
(1) 	400 	 (2) 	396 

(3) 	380 	 (4) 	390 

42. 1 

	

	4)11 3Rxrdia 4, ia,410 D14,04 * 	(kg 14) 111-d  	# : 
2.8, 2.9, 21, 31, 3.5, 3.6, 3.9, 4.0, 51, 3.0 

Rm.  N-R 	cm) D11311 *I" titsql 

(1) 6. 	 (2) 4 

(3) 3 	 (4) 5 

43. 314-0 1, 2, 3, 1, 4, 6, 6, 1, 9, 8, 6, 1 t H 	I I ch I t 

(1) 3 

(3) 4 

44. zufzIW 744 43 qMIR afk0 

(1) 1 

(3) 8 

(2) 3.5 

(4) 5 

(2) 6 

(4) 9 

45. AHR-Rsid trri 	ZW( 5141 	641 **A Im-a-  * few imff 4 	 air) Ml4l 

ki-zirjErral 	1-4-4ta cbtoi ' i arc IR *4 *I.  To A-Ritz/41 9000 *, 	't 'W4 A 
Rut AT II" TO cuc, 	 t 

	

(1) 500 
	

(2) 1000 

	

(3) 600 
	

(4) 900 
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46. Two cards are drawn randomly from a deck of 52 playing cards, without replacement. 

The number of possible outcomes is 

(1) 52 x 52 

(2) 52 x 51 

(3) 52 + 52 

(4) 52 + 51 

47. If the probability of an event is p, then the probability of its complement will be 

(1) 1 	 (2) 1 — p 

(3) 	
1 	

(4) p — 1 

48. If the events E and F are mutually exclusive, P(E U F) = 0.5 and P(E) = 0.3, then 

P(F) is 

(1) 01 	 (2) 0.3 

(3) 0.2 	 (4) 0.4 

49. Two dice are thrown simultaneously. The probability that both turn up with an even 

number is 

(1) 

(3) 

1 

2 

3 

50. Let A and B be two events. Then, P(A U B) + P(A fl B) = 

(1) 1— [ P(A) + P(B)1 

(2) P(B) — P(A) 

(3) P(A) — P(B) 

(4) P(A) + P(B) • 
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46. 52 II) aid) i  4141 414, 1 	cfrii 3ART1tfq 	 VIT 	TI4T14-+-TR 	t I TilT4 

1:rfkulizil 	tclei 	t 
(1)52 x 52 

(2) 52 x 51 

(3) 52 + 52 

(4) 52 + 51 

47. /TR cbtil 	*1-  NI chi! pt, 	dk-icA 1"-Z 	*I• mAcbdi 

(2) 1 — p 

(4) p — 1 

48. zrR 	 E ii i F Wit 31741i t, c T P(E U F) = 0.5 ati P(E) = 0-3*, c P(F) 

(1) 0.1 
	

(2) 0.3 

(3) 0.2 
	

(4) 0.4 

49. 	t 7R:11 

(1) 

(3) 

liT2T UT 7MT 

1 
2 

1 
3 

I q i ITR:11 TR 7W 1:11T titsql 31T4 *I 511 eicbc-i 1t 

1 
(2) 

4 

1 
(4) 

12 

50. TER #1177 A at( B 	 I 	P(AuB)+P(AnB). 

(1) 1— P(A) + P(B)] 

(2) P(B) — P(A) 

(3) P(A) — P(B) 

(4) P(A) + P(B) 
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SPACE FOR ROUGH WORK 
-wrzi 3/4 *7 wrg 
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